Exam Date : 04/09/2023

Subject Name : MATHS

Question 1
fAfafea & o9 srufivay T8 82

Answer :

() 4\/3
V916

(B)
© »\/ﬁ
(D) \/E

Right Answer :

V916

Question 2

Addal247

QUESTION PAPER
Madhyamic MATHS [SHIFT - 1]

Subject Question

%om SHAd YR Hdl 81T

Answer :

(A) |Id

(B) 31 3madf
(C) 3rfd fTadr
(O ESEEIERG

Right Answer :
3id 3adf

Question 3

fr=faRad & o srureg 9= 52
Answer :

(A) 15

(B) 23

(C) 12

(D) 75

Right Answer :
23

Question 4

et quifes e p % fore Rww e &1 &0 R
Answer :

(A) 2p+1

(B) 2p

QP

(D) p+1

Right Answer :
P

Time : 10:00 AM - 12:30 PM

Subject Code : 110

Question Id : 1

Option Id
1001

1002

1003

1004

Right Option Id : 1002

Question Id : 55

Option Id
55001
55002
55003
55004

Right Option Id : 55002

Question Id : 54

Option Id
54001
54002
54003
54004

Right Option Id : 54002

Question Id : 53

Option Id
53001
53002
53003
53004

Right Option Id : 53003


dell
Stamp


Question 5 Question Id : 52
refafed & o9 uikay S 82
Answer : Option Id

(A) 2V§ 52001

(B) ‘\/g 52002
(@) 52003
23
V3

(D) 52004
Right Answer : Right Option Id : 52003

243

V3
Question 6 Question Id : 51
V5 THh TAT g
Answer : Option Id
(A) TRAT 51001
(B) SURE 51002
(C) quiich 51003
(D) Ulpd 51004
Right Answer : Right Option Id : 51002
3R
Question 7 Question Id : 50

3+2+/5 U =T g
Answer : Option Id
(A) 3RET 50001
(B) aRaT 50002
(C) STHIST 50003
(D) Ulpd 50004
Right Answer : Right Option Id : 50001
SORay
Question 8 Question Id : 49
a= bg+r T HOWO (a,b)
Answer : Option Id
(A) H0¥O0 (a,r) 49001
(B) H0HO (b,r) 49002
(C) H0¥O0 (b,a) 49003
(D) 378 ®Is gl 49004
Right Answer : Right Option Id : 49002
HOIO (b,r)

Question 9 Question Id : 48



5,15 3R 20 & TOHO 3R HOHO &7 3IUTd & |
Answer :

(A) 9:1

(B) 4:3

(C) 11:1

(D) 12:1

Right Answer :
12:1

Question 10

-3
53—

% B
Answer :
(A) TTPpd e
(B) TR T
(C) 3HURTg T
(D) 3TH ®IS 8T

Right Answer :
3URHY FE=AT

Question 11

T 65 TUT 117 HT HOWO 65m-117 F FUH g, A m HT A g
Answer :

(A1

(B)2

3

(D)4

Right Answer :
2

Question 12

n & 6T A W T 4, T SN
Answer :

(A) n=2

(B) n=0

© T DIs T n T8 &7

(D) n=x

Right Answer :

Question 13

4052 TYT 12576 BT HoHo GNTI
Answer :

(A)1

(B)2

3

(D) 4

Right Answer :
4

Question 14
fFafifed A ¥ P ague g

Option Id
48001
48002
48003
48004

Right Option Id : 48004

Question Id : 47

Option Id
47001
47002
47003
47004

Right Option Id : 47003

Question Id : 46

Option Id
46001
46002
46003
46004

Right Option Id : 46002

Question Id : 45

Option Id
45001
45002
45003
45004

Right Option Id : 45003

Question Id : 44

Option Id
44001
44002
44003
44004

Right Option Id : 44004

Question Id : 43



Answer :
(A) X% + 3Vx
(B) 2x2+3Vx
C
VX2 xiz —2
(D) 3x%+2Vx

Right Answer :
2x%+3Vx

Question 15

frafaRaa & o sgue &1 U T S A § -

Answer :

(A) ax®+bx+c

(B) ax3+bx?+cx+d
(C) ax®+bx?+c

(D) ax*+bx3+cx?+d

Right Answer :
ax3+bx2+cx+d

Question 16
JgUG 4x2-3 o LD B :

Answer :

A 3 V3
5 7 5

® 1
2

V3 V3
2

k]

©

5

3

(D) 5
3$

Right Answer :

ﬁ V3

2 7 2

Question 17

fora Feftenor g & et Th-geR & THIR 1, 39 Hed © :

Answer :

(A) faxieit

(B) 3ifaRieit
(OEUES

(D) 37TH BIS eI

Right Answer :
[ERE]

Question 18

K%WW%%’&WX+Zy:7 ayr 2x+ky=14¥it|'|?‘ﬁaﬁ:

Answer :
(A) 2
(B)3

Option Id
43001
43002
43003

43004

Right Option Id : 43002

Question Id : 42

Option Id
42001
42002
42003
42004

Right Option Id : 42002

Question Id : 41

Option Id
41001

41002

41003

41004

Right Option Id : 41003

Question Id : 56

Option Id
56001
56002
56003
56004

Right Option Id : 56001

Question Id : 57

Option Id
57001
57002



(OK
(D) S5 BT Tl

Right Answer :
3

Question 19
Afe GrTud FHIBRUT (BT 1 SFMA 8 81 <t a8 IRl Hebrd ol & :

Answer :

(A) faRidt

(B) SfaRieft
(OEUES!

(D) 3TH ®IS T8I

Right Answer :
3Mfad

Question 20

& x-2, IGUE x2+ax+2b HT TH TUFYUE § T a+b=-2 1 ¥ a 3R b & AF &I :

Answer :

(A) a= -1, b=-3
(B) a=1, b=3
(C) a=-3, b=1
(D) a=5, b=-3

Right Answer :
a=-3, b=1

Question 21

JGUG x2-16x+30 B I T ger 914 fos ufRkomeh 9gU< &1 T 4d 15 BT ;
Answer :

(A) 16

(B) 15

(C) 14

(D) 30

Right Answer :
15

Question 22

K & f&g A & 1T Gienur g x+2y-3=0 TUT 5x+ky+7=0 B Bl gl el N :
Answer :

(A) 3

(B) 10

1

(D) -1

Right Answer :
10

Question 23

gfe IgUE x2-5x+k BT T W 2 Bl dl K &1 A g1 -
Answer :

(A)5

(B)6

o

(D) 5TH 1S &l

57003
57004

Right Option Id : 57002

Question Id : 58

Option Id
58001
58002
58003
58004

Right Option Id : 58003

Question Id : 67

Option Id
67001
67002
67003
67004

Right Option Id : 67003

Question Id : 73

Option Id
73001
73002
73003
73004

Right Option Id : 73002

Question Id : 72

Option Id
72001
72002
72003
72004

Right Option Id : 72002

Question Id : 71

Option Id
71001
71002
71003
71004



Right Answer : Right Option Id : 71002
6

Question 24 Question Id : 70

3 THfiRur g T SaRd Ufawddl 81, afe su g ST Ed -

Answer : Option Id
(A) P EAAT 70001
(B) T BAT 70002
(C) WD AT 70003
(D) 3 g Bl 70004
Right Answer : Right Option Id : 70003
T 8 8l

Question 25 Question Id : 69

qﬁ 2x+by=8 ud ax-3y=-4 P gd x=1dUT y=2 ﬁ?ﬁ a3 b ?JI'T[II'F{@TIT :

Answer : Option Id
(A)a=2,b=3 69001
(B)a=-2,b=3 69002
(C)a=2,b=-3 69003
(D) 378 ®Is gl 69004
Right Answer : Right Option Id : 69001
a=2,b=3

Question 26 Question Id : 68

fore wetasor Foma @1 sifcita & Siar 2, 98 FHieR0 e SEan -

Answer : Option Id
(A) fae 68001
(B) SifaRIeft 68002
(C) 3nf3rd 68003
(D) 378 ®Is gl 68004
Right Answer : Right Option Id : 68002
Jrfareh

Question 27 Question Id : 66

i TR BT agx + by = ¢; TUT ayx + by = ¢, BT 3G Uh ORI T (AT forg W ufddg &L dl GHIbRul Fard & g i

Answer : Option Id
(A) SFT 66001
(B) U& 3R Had T 66002
(C) Pl B ol 66003
(D) S gt 66004
Right Answer : Right Option Id : 66002
TP 3R Hdd Th

Question 28 Question Id : 59

gfe QIO THIBRUT 6T agx + bry = ¢ TUT azx + bay = ¢, & 3G YUTA &1 I GHIHRU AP &1 8 I -

Answer : Option Id
(A) BT3B a1 59001
(B) T 3R Had U & 59002
(C) 3FRHd g 59003
(D) T8 ¥ BIg a1 59004
Right Answer : Right Option Id : 59003

3T 89



Question 29 Question Id : 65
1,2,3, 4 n &1 7T I B |

Answer : Option Id
(A) 65001
N(N+1}
2
(B) w41 65002
2
< N 65003
2
D) w 65004
—+1
2
Right Answer : Right Option Id : 65002
N1
2
Question 30 Question Id : 64
¢ & 69 1 & o fgerd T ax?+bx+c=0 & G JAH g1
Answer : Option Id
(A) b2 64001
5 >
(1
B) B2 64002
4a
© a2 64003
b H
D) a2 64004
4b
Right Answer : Right Option Id : 64002
b2
4a
Question 31 Question Id : 63
TG ax? + bx+c =0 & A U - GUR & JhH gl dl
Answer : Option Id
(A) a=b 63001
(B) b=ac 63002
(C) a=c 63003
(D) ac=1 63004
Right Answer : Right Option Id : 63003
a=c
Question 32 Question Id : 62

ﬁo—a@?ﬁmmmwwé?

(A) %143 & YT H 10% Wi
(B) 393 & HId H 7% i

Answer : Option Id
(A)AH 62001
(B)BH 62002
(C) & ¥ | a1y 62003

(D) 79 A BIs el 62004



Right Answer : Right Option Id : 62002

BH

Question 33 Question Id : 61

TP f % 1250, T 10 1A Yo & VIR T AT 81 576 R BT FI6R HIG X 9.50 B ST € < 98 S« 99 &l 8| U 84 araht g1 B

Answer : Option Id
(A) 60 61001
(B) 62.5 61002
(C) 61.5 61003
(D) 5T W BIS el 61004
Right Answer : Right Option Id : 61002
62.5

Question 34 Question Id : 60

A TUT B A FIAHR Ue TR 3MRY faaT| A 3 36000 Fo 8 ATE & forT @I wTaifds B A 3 Usht 6 ATE & forT @I | 3id & B &1 il 1M &7 15/31 YT i, d B A
Pl fod1 4= Tam?

Answer : Option Id
(A) 42000 60001
(B) 39000 60002
(C) 35000 60003
(D) 45000 60004
Right Answer : Right Option Id : 60004
45000
Question 35 Question Id : 40
forelt RIAH & 3ifed Ted IR 10% &1 981 37 W TH GHHER DI 20% HT ATH BT &1 TS 20% T F&1 a1 Sy df IHHT T gielm 8|
Answer : Option Id
(A) 8% 40001
(B) 40002
2
6%
3
© 1 40003
7-%
3
(D) 10% 40004
Right Answer : Right Option Id : 40002
2
6—%
3
Question 36 Question Id : 39
400 Fo 3HfHd e & U RIAT TSI BT 8% F &l HiWD d¢ UR I TT| T[S GHT 16% DI el ST BI TIVUT FHX Tg I g1 aTel g1 gt
Answer : Option Id
(A) 2.56 39001
(B) 4 39002
(C) 3.25 39003
(D)5 39004
Right Answer : Right Option Id : 39001
2.56
Question 37 Question Id : 38
it avg &1 g 30% TETHR IUW 10% TUT 10% HI &l it Fe1 foan Sran g | sifqm ary 1 ufa=rd gem?
Answer : Option Id

(A) 5% 38001



(B) 5.5% 38002

(C) 5.3% 38003
(D) 4.3% 38004
Right Answer : Right Option Id : 38003
5.3%

Question 38 Question Id : 37

T GHMGR U ST 1 T AT Ged ¥ 20% 31 eid Fxdr 8 a1 T@ieaR &1 10% 91 17 a1 81 39 USR GHHER B H [ WA= BT AT §IT?
Answer : Option Id
(A) 10% 37001
(B) 8% 37002
(©)12% 37003
(D) 15% 37004
Right Answer : Right Option Id : 37002
8%

Question 39 Question Id : 17

TP fad 3 $© AR IYR T a1 3 8820 T Ufday o1 & JAM fwai H witer faan| afe Tshafg saTe o1 &R 5% dT 81 al SUR BI 78 AT gft?

Answer : Option Id
(A) 17400 o 17001
(B) 16000 Fo 17002
(C) 16400 To 17003
(D) 79 A BIs el 17004
Right Answer : Right Option Id : 17003
16400 »o

Question 40 Question Id : 16
o T o 5% aTit® ahdia &S DI & I 1600 Fo TGH 1852.20 Fo Bl STITIN?

Answer : Option Id
(A) 2 T 16001
(B) 3 9% 16002
(C) 4T 16003
(D) S5 B1S Tl 16004
Right Answer : Right Option Id : 16002
39y

Question 41 Question Id : 15

TP TSl BT 450 Jo TG 31dT 210 Jo T YA qUT I ULAT 125 Fo B &l AT [l B IUast ¢ | fh Aot & forg sret &bt oz om g1

Answer : Option Id
(A) 33.8% 15001
(B) 33.5% 15002
(C) 34.8% 15003
(D) 34% 15004
Right Answer : Right Option Id : 15001
33.8%

Question 42 Question Id : 14

UF qIiRAT A=A &1 e 12000 Fo g ORI 0t 5200 Fo BT g YT bR Y AT JAF fard! § At 8| Afe saTel Bl &R 12% a1 § T AR fard 1400 To
wfaHTe § o fobl @t T gifle

Answer : Option Id
(A) 4 14001
(B)> 14002

(€6 14003



(D) 3 14004

Right Answer : Right Option Id : 14002
5

Question 43 Questionid : 13
TP TR 3500 Fo T FaHg IUTH § TR [hd 1o & Sfafd T8 1500 Fo & ged YT a ufd fammgt o aam fral & witear g1 Siar ufa faaret afora
B a1 12% I ST Tl & U fbad i MR FAbead To H J1d B |

Answer : Option Id
(A) 707 %o 13001
(B) 725 %o 13002
(C) 710 %o 13003
(D) 750 %o 13004
Right Answer : Right Option Id : 13001
707 2o

Question 44 Question Id : 12

TH U 1500 To P gid YT TUT 440 Fo B UfdHTE 5 THH WG fod! § Iuatsy g | IS foved Aior & 3iald 24% a1fiies sart foram Siran § df U &7 g
el g

Answer : Option Id
(A) 3500 %o 12001
(B) 3580 %o 12002
(C) 3600 %o 12003
(D) 3680 %o 12004
Right Answer : Right Option Id : 12002
3580 %o

Question 45 Question Id : 11

y 31& IR Ry fonddt famg 1 fdwnias g

Answer : Option Id
(A) (0,y) 11001
(B) (v,0) 11002
(©) (0,0) 11003
(D) (xy) 11004
Right Answer : Right Option Id : 11001
0.y)

Question 46 Question Id : 10
it forg 1 x-3181 T & I foeg &1 FHgard g

Answer : Option Id
(A) @I 10001
(B) Hal 10002
(C) &l 10003
(D) STerE 10004
Right Answer : Right Option Id : 10001
Dife

Question 47 QuestionId : 9

x=-4 BT 3G B! I @1 g |

Answer : Option Id
(A) x-31& b AR 9001
(B) y-31&f o THIR 9002
() 7 forg O o g2 9003

(D) 378 ¥ P15 T8 9004



Right Answer :
y-3{&f & JHIR

Question 48

fagt (3,2) 3R (-3,2) AT @A |
Answer :

(A) x-31& TR

(B) y-31& TR

(C) x-3{& & Th 3R

(D) x-31& & I 3R

Right Answer :
x-318 & T 3R

Question 49
fageff 23) MR @A) F TP AT |

Answer :
(A) 2
(B)1

(C)zzﬁ\/ii
a».x/ggzi

Right Answer :

242

Question 50
3l fagl P(2,3) Q(4,2) & T B g BRI

Answer :

(A) _\/E
(B) \/§

Q)2
D) [ 5
Right Answer :

V5

Question 51

fagaft A(0,6), B(-5,3), Td C(3,1) T Ay & =M fargt &, a8 Ay 8-

Answer :
(A) THfgaTg
(B) YHdTg

(QRELEEIH
(D) THPITT YW

Right Answer :

THigeTg

Question 52

& gd & o &b RRY &1 A (-4,2) 3R (8,6) § A Bseb BT .01 BN |

Answer :
(A) 3,1)

Right Option Id : 9002

Questionid : 8

Option Id
8001
8002
8003
8004

Right Option Id : 8003

Question Id : 7

Option Id
7001
7002
7003

7004

Right Option Id : 7003

Questionid : 6

Option Id
6001

6002

6003
6004

Right Option Id : 6004

QuestionId : 5

Option Id
5001
5002
5003
5004

Right Option Id : 5001

Question Id : 4

Option Id
4001



(B) (1.3)
€ 2,4)
(D) (4.2)

Right Answer :
(2,4)

Question 53

A BT B TS AIEDT B fbg rgurd & fuiiid s g |

Answer :
(A) 1:2
(B) 2:1
(O 11
(D) 2:2

Right Answer :
2:1

Question 54

e p X1 WUS AB & K:1 & 3uTd H fauiiord & af p farg & i 21T afe Arx,yy) 3TR B(xa,y,) & |

Answer :

“ Fx, — kx ky, —ky,

¥

k—1 2
P hx, +kg ky, +ky,
kExl k4l
“(lxq+x, ky +y,
E2
(D) 3TH A BIg TaT

Right Answer :

kx, +kx  ky, +ky,
Erl ~ kil

Question 55
WA T B -

Answer :
(A) THiaTT
(B) fefasita
(C) Afedt
(D) faurg=

Right Answer :
T aHT

Question 56

gfaas & Uy g Tai<y' ¥ $d fha a2
Answer :

(A) 13

(B) 465

(C) 405

(D) T8 A P g

Right Answer :
465

4002
4003
4004

Right Option Id : 4003

Question id : 3

Option Id
3001
3002
3003
3004

Right Option Id : 3002

Questionid : 18

Option Id
18001

18002

18003

18004

Right Option Id : 18002

Question Id : 2

Option Id
2001
2002
2003
2004

Right Option Id : 2001

Question Id : 19

Option Id
19001
19002
19003
19004

Right Option Id : 19002



Question 57

AB T g -
Answer :

(A) X" AB

(B) faRu1 AB

(C) YTAUS AB

(D) &TH I w4t

Right Answer :
1 AB

Question 58
X > 90° &7 3

Answer :

(A) x BT A 90° F 3 1 ITH SRR B
(B) x T HIF 90° & HH I 3P SRIeR &
(C) x=90°

(D) T8 A P15 T

Right Answer :
X BT AT 90° ¥ 31 a1 IHP SRR &

Question 59

TR 10N BT TeH 8-
Answer :

(A) 20°, 160°

(B) 70°, 20°

(C) 120°, 60°

(D) 90°, 90°

Right Answer :
70°, 20°

Question 60

HTEfa H, x &1 AT & -

2x

ZN

Answer :

(A) 180°

(B) 18°

(C) 30°

(D) 378 ¥ PIS e

Right Answer :
30°

Question 61

Question Id : 21

Option Id
21001
21002
21003
21004

Right Option Id : 21001

Question Id : 36

Option Id
36001
36002
36003
36004

Right Option Id : 36001

Question Id : 35

Option Id
35001
35002
35003
35004

Right Option Id : 35002

Question Id : 34

Option Id
34001
34002
34003
34004

Right Option Id : 34003

Question Id : 33

D 3R E HHT: AB 3R AC &T Yoiraf R fRud g § Y ABC 39 UaR g f5 AD=2 I+t BD=3 I, BC=7.5 7t 3R DE || BC. I DE &I TS (@ HHH g

Answer :
(A) 2.5
(B) 3
(@5

Option Id
33001
33002
33003



(D) 6 33004

Right Answer : Right Option Id : 33002
3

Question 62 Question Id : 32

TH U Y &1 w0f 25 It § 3R 2 & Yorefi H J U, g A 5 It aeft 1 30 &F YeoTafi & e

Answer : Option Id
(A) 15 I iR 10 TR 32001
(B) 15 It 3R 20 It 32002
(C) 12 T 3R 23 I 32003
(D) 10 It 3R 15 Jft 32004
Right Answer : Right Option Id : 32002
15 It 3R 20 It

Question 63 Question Id : 31

A & S8R UH foig ¥ 3 g0 WR =t e § wef Y@ Widt o I |

Answer : Option Id
(A) 2 31001
(B)1 31002
3 31003
(D) 4 31004
Right Answer : Right Option Id : 31001
2

Question 64 Question Id : 30

TS T BT 20 T x 16 T SMATH F SHIABR & & B! WR 14 Hic AdTs $I I8 J Fief1 71 g1 MY o5 A § aR Fhell § SUDT 8B §

Answer : Option Id
(A) 144cm? 30001
(B) 169cm? 30002
(C) 77cm? 30003
(D) 154cm? 30004
Right Answer : Right Option Id : 30004
154cm?

Question 65 Question Id : 29

fit U 7T AABC & THR=T FAYS P 91 B & forg ot Yo ABC @t TTd YoiTaft &t 8/5 €, Teh fhvur BX 30 UHR WU fob 2 CBX T =g 10T &1 3R X,
BC & T+ # A & fauRa faxm & 811 f=ur Bx R I9M ¢t R fRyd €1 aral f&igait &t =aw Jem @

Answer : Option Id
(A) 5 29001
(B) 13 29002
(OK: 29003
(D)3 29004
Right Answer : Right Option Id : 29003
8

Question 66 Question Id : 28
TGHS P BT 4:5: 10:11 F 3T H 3| BIvr A Ru U 8-

Answer : Option Id
(A) 36°, 60°, 108°, 156° 28001
(B) 48°, 60°, 120°, 132° 28002
(C) 52°, 60°, 122°, 126° 28003

(D) 60°, 60°, 120°, 120° 28004



Right Answer : Right Option Id : 28002
48°, 60°, 120°, 132°

Question 67 Question Id : 27

T fig P 9, S 5 Wit o ard U 99 & foig 0 ¥ 13 It &t gt WR 7, I W WRf @ PQ 3R PR HT T Wi ST 8| 96 IgHS PQOR T &% d §

Answer : Option Id
(A) 60 cm? 27001
(B) 65 cm? 27002
(C) 30 cm? 27003
(D) 32.5 cm? 27004
Right Answer : Right Option Id : 27001
60 cm?

Question 68 Question Id : 26
MR BT = r 3R F1S = h AT ST BT 3T &

Answer : Option Id
(A) 2mtrh 26001
(B) Ttr*h 26002
(C) 2mtr (r + h) 26003
(D) 1/3 mtr?h 26004
Right Answer : Right Option Id : 26002
1ir’h

Question 69 Question Id : 25

TF STHR S B gAGER a8 AR ___ JAIHR HAH 81d 6, ot TJAH 81

Answer : Option Id
(A) T, Tdh 25001
(B) U, & 25002
(C) G, TH 25003
(D) al, & 25004
Right Answer : Right Option Id : 25002
T, &l

Question 70 Question Id : 24
e 31 &1 & Tde &7 16: 9 F 3IUId | g, Al I Aad 3uTd | gi:

Answer : Option Id
(A) 27: 64 24001
(B) 64: 27 24002
(C) 4:3 24003
(D) 3:4 24004
Right Answer : Right Option Id : 24002
64: 27

Question 71 Question Id : 23

3l &3 % 3T BT U 8 : 27 81 TS r 3R R HH: M I B & AR -n): re:

Answer : Option Id
(A)1:2 23001
(B)1:3 23002
(€2:3 23003
(D)4:9 23004
Right Answer : Right Option Id : 23001

1:2



Question 72 Question Id : 22
TF gHagys & faeul 8 It o 10 It ¥ 1 79 THEgyS &1 & a 3

Answer : Option Id
(A) 64 cm T 22001
(B) 100 cm T 22002
(C) 80 cm 22003
(D) 40 cm T 22004
Right Answer : Right Option Id : 22004
40 cm a’rf

Question 73 Question Id : 74

TP PR R A9 T Sa-THR YR BT T o

Answer : Option Id
(A) T TP 3R T da 74001
(B) T TP IR TP Ja &1 fvad 74002
(C) Teb eIl 3R TP s 74003
(D) IR e 74004
Right Answer : Right Option Id : 74001
& 2P 3R TP 97

Question 74 Question Id : 20
SSftic Tam & folU ST fHT STH aTd Wed Bid BT PR JAIS- & =0 H gidl o

Answer : Option Id
(A) T feier 3R U M 200071
(B) U RIcisR 3R U maef 20002
(C) T TP 3R T e 20003
(D) T& TP SIR T& Mard &1 & &9 20004
Right Answer : Right Option Id : 20004
UH P 3R TH Mare] &1 T dd

Question 75 Question Id : 75

Ife T I BT 3T 1728 JH3 B, 3T [N B! daTs SRR &

Answer : Option Id
(A) 12 94 75001
(B) 24 It 75002
(C) 10 It 75003
(D) 25 &t 75004
Right Answer : Right Option Id : 75001
12 9Ht

Question 76 QuestionId : 78

T HR & T3 31 Ml fUae T a9 gid § SMUR 3 6 JH 3R SHaTs 32 T &1 T 319 UTg Riciex | YA Md &1 3 o

Answer : Option Id
(A) 3 Tt 78001
(B) 6 I 78002
(C) 12 It 78003
(D) 8 &l 78004
Right Answer : Right Option Id : 78002
6 IHt

Question 77 Question Id : 92



TP HH ATHR H MMIAPR g 3R 3P| T JUTe Id g1 Tg 10 Hiex TiT, 13 Hiex T 3R 5 Hiex Har g1 39 37 3R T8 3R B W Ue a1 9T § dfdp
Bd IR a1, df Ue fovar S arell oo A5the &

Answer : Option Id
(A) 360 Hiex aFf 92001
(B) 460 HicR af 92002
(C) 490 Hicx &l 92003
(D) 590 Hiex o 92004
Right Answer : Right Option Id : 92004
590 Hiex aif

Question 78 Question Id : 93

I U g1 &1 aRfY SR e & o9 &1 3faRk 37 I 8, A 91 T &

Answer : Option Id
(A) 111 37 o 93001
(B) 148 I T 93002
(C) 259 T4t ¥ 93003
(D) 154 I ot 93004
Right Answer : Right Option Id : 93004
154 It gt

Question 79 Question Id : 94

& T Gragys & fawof 24 dm 3R 10 dm €, @ TH=qYS &1 ufkam™

Answer : Option Id
(A) 68 dm 94001
(B) 60 dm 94002
(C) 52 dm 94003
(D) 50 dm 94004
Right Answer : Right Option Id : 94003
52 dm

Question 80 Question Id : 97

TH BYS Ft Yorsft &1 darsar quiie! & gidt § SR 39! &wd Ht U quifes 8idT 81 T YT 21 I § 3R uRHTg 48 it €, A Iad BICT Yol Bt darg

Answer : Option Id
(A) 8 Tt 97001
(B) 10 Tt 97002
(C) 12 It 97003
(D) 14 Gt 97004
Right Answer : Right Option Id : 97002
10 I

Question 81 Question Id : 96

I Tg & RN BT RIS AT SARIg! HH T ToI S d 3l o & TR B TG 6T 7T Hgd § |

Answer : Option Id
(A) |1 96001
(B) HIL 96002
(C) dgdd 96003
(D) 378 ¥ PIs a1 96004
Right Answer : Right Option Id : 96002
s

Question 82 Question Id : 91

AT, WO qUT S5 H DI 1 Uae T §
Answer : Option Id



(A) 9gdh =3 HIHH-2HTH 91001

(B) dgcidh =3HTH-3HTH D 91002
(C) Sgcip=H&HD-HIH 91003
(D) Sgcich =HIH-HIH D 91004
Right Answer : Right Option Id : 91001

g =3 HIHH- 20T

Question 83 Question Id : 98
feeeT ol @1 ages a9 w2 ¥

Class 0-5 5-10 | 10-15 | 15-20

freq ¢ 4 5 4
Answer : Option Id
(A) 0-5 98001
(B) 5-10 98002
(C) 10-15 98003
(D) 15-20 98004
Right Answer : Right Option Id : 98003
10-15
Question 84 Question Id : 99
Ui T-ATSM BT HIeT 18 § Tfc, U TAT g2l ¢l ST ol A1 16 © | BeTs TS IAT @
Answer : Option Id
(A) 16 99001
(B) 18 99002
(C) 24 99003
(D) 26 99004
Right Answer : Right Option Id : 99004
26
Question 85 Question Id : 100
7.3, 5,8, 6,10, 9, 12 BT 7S &
Answer : Option Id
(A) 8 100001
(B) 6 100002
(C) 7.5 100003
(D)7 100004
Right Answer : Right Option Id : 100003
7.5
Question 86 Question Id : 95
A o &9 79 7% § 78 eTar o I
Answer : Option Id
(A) H1T 95001
(B) HIEdD 95002
(OEENED 95003
(D) 378 ¥ PIS 8 95004
Right Answer : Right Option Id : 95001
HIY
Question 87 Question Id : 90

TYH 8 THTY AT BT AIHD §



Answer :
(A7
(B9
on

(D) 13

Right Answer :
9

Question 88

N @&rat & @reg X 8. Ucdd J&dl
HA k ¥ IOT A T AT AT ¢

Answer :
A kX
(B)

< E |

©

+k
®F k

Right Answer :
kX

Question 89

1,2, X, 4,5 & A0S 3 § Al 3BT AT
Answer :

(A)3

(B) 4

@5

(D) 4.5

Right Answer :
3

Question 90
T F=A+Z¥ un F pi=?
rf
Answer :
(A) xi+A
n
(B) h(xi - A)
(C) xi—A

mn
(D) A+xi

n

Right Answer :
xi—4

mn

Question 91

e Eaa

SONXTIANY 7 AT EFaTforieag & § &1 g

cot2x
Answer :
(A)1
(B) 2
(OR
(D)4

Option Id
90001
90002
90003
90004

Right Option Id : 90002

Question Id : 77

Option Id
77001
77002

77003
77004

Right Option Id : 77001

Question Id : 88

Option Id
88001
88002
88003
88004

Right Option Id : 88001

Question Id : 87

Option Id
87001

87002
87003

87004

Right Option Id : 87003

Question Id : 89

Option Id
89001
89002
89003
89004



Right Answer :
2

Question 92

Ilﬁ'cosoczg 3R smﬁ:i%',?ﬁ

cos(o¢ —B) T AT FIT g2

Answer :

(A)
24/15+5
12
(B)
V5

12

o

D) 24155

12

Right Answer :

2415445
12

Question 93

13 2sinf—3cos
Ife cosecH = o % ar

4sinf—9cost
HIA HT iflﬂll v

Answer :
(A)

(B) 3

@ 3
12

(D) 4

Right Answer :
3

Question 94

V3 tanB8-1=0, sin20-cos20 HT AT JTd HI |
Answer :

(A1

B) 1
2

(D)0

Right Answer :
1

2

Right Option Id : 89002

Question Id : 86

Option Id
86001

86002

86003
86004

Right Option Id : 86001

Question Id : 85

Option Id
85001

85002
85003

85004

Right Option Id : 85002

Question Id : 84

Option Id
84001
84002

84003

84004

Right Option Id : 84003



Question 95 QuestionId : 76
tang tangd o 5
— + —— |[chHoh &d]&d élﬂll?

secf—1 secf+1
Answer : Option Id
(A) 2tan® 76001
(B) 2secH 76002
(C) 2cosecH 76003
(D) 2tan@ .secO 76004
Right Answer : Right Option Id : 76003
2cosecO
Question 96 Question Id : 83
2 1
T If cosecd = 2x 3T cotd= = @ 2(x? — ==
x x
Answer : Option Id
(A) 1 83001
2
(B)1 83002
© -1 83003
O 1 83004
2
Right Answer : Right Option Id : 83004
il
2
Question 97 Question Id : 82
(1+ cot?8)sin2@ T HIF T §ITIN?
Answer : Option Id
(A)O 82001
(B)1 82002
(Ok 82003
(D) 2 82004
Right Answer : Right Option Id : 82001
0
Question 98 Question Id : 81
4
IS cos A= -l tan A T AT FI gram?
Answer : Option Id
A 3 81001
5
(B) 81002
3
4
< 4 81003
3
D) 5 81004
3
Right Answer : Right Option Id : 81002

3



Question 99

v3tan10°+v3tan20°+tan10°tan20°=------ ?ﬂrlﬁ?ﬂ'[ﬁ"'ﬂ?

Answer :
(A) -1
(B)0
O1

(D) 2

Right Answer :
1

Question 100

i sec?c + cos2e = 2 Tl sece + cos o« HIF &1 GINIT?
Answer :

(A) +2

(B)2

(C) %1

(D) -2

Right Answer :
2

Question 101
3T Urepferes fepa @
Answer :

(A Remeff 1

(B) FR&reb &1

(C) ufd 1

(D) Sitfad wroft &1

Right Answer :
Sfifae groft &1

Question 102
ST ufehar &1 3r:afehar ues &

Answer :

(A) I ¥R I
(B) &

(©) Hfd

(D) T it

Right Answer :
B

Question 103

TS 1607 BT gYH =R0T 7
Answer :

(A) @

(B) 9HL

(C) fa=ayr

(D) Hedih

Right Answer :
SRl

Art Of Teaching

Question Id : 80

Option Id
80001
80002
80003
80004

Right Option Id : 80003

Question Id : 79

Option Id
79001
79002
79003
79004

Right Option Id : 79001

Question Id : 120

Option Id
120001
120002
120003
120004

Right Option Id : 120004

Question Id : 121

Option Id
121001
121002
121003
121004

Right Option Id : 121004

Question Id : 125

Option Id
125001
125002
125003
125004

Right Option Id : 125001



Question 104

3CTHD I §

Answer :

(A) fafRree

(B) HTUA A1y
(C) fopan i
(D) T Tt

Right Answer :
B

Question 105
SIH BT BT B =T 83

Answer :

(A) BTdS faxafdamey
(B) WABIS fazafaemed &
(C) Rt faxafasmera @
(D) ¥ faxafaemea ¥

Right Answer :
fRreprn fa=afaemera 4

Question 106

Rreror & snyfe fafyy o1 fawar g

Answer :

(A) fopar Hfsd
OERIRIER
(C) THDE FUNT
(D) IRIad Tt

Right Answer :
IRIT it

Question 107

3T fafey aefed rar 8
Answer :

INEERIIEAR]

(B) Ff

(C) PRap Al

(D) SWRIa waft

Right Answer :
IIRIFT it

Question 108
A fafYr Bt oY B

Answer :

(A) BT B BT 3HIT

(B) g fafyr

(C) SHfeTH fchar &1 Tict it
(D) THT &1 &

Right Answer :
& B0 BT UG

Question 109

Question Id : 123

Option Id
123001
123002
123003
123004

Right Option Id : 123004

Question Id : 124

Option Id
124001
124002
124003
124004

Right Option Id : 124003

Question Id : 119

Option Id
119001
119002
119003
119004

Right Option Id : 119004

Question Id : 117

Option Id
117001
117002
117003
117004

Right Option Id : 117004

Question Id : 126

Option Id
126001
126002
126003
126004

Right Option Id : 126001

Question Id : 127



18 giorT Ruffd Har g
Answer :

(A) T e

(B) faerera &1 3e=d

(C) YT PT I

(D) VEY® HTT T 3e-d

Right Answer :
3{feNTH e =T

Question 110

5E ATSd [ Rid gafl ol
Answer :

(A) TTERATG F fag

(B) ITATHBATAIG & forg

(C) FATRIG dhal=HT & g
(D) WATferaTg & fere

Right Answer :
TATHSGAIaIG & fag

Question 111
e e &7 I8 -

Answer :

(A) Rt o Riemn Hivre o1 faemr &
(B) BT BT &HdT BT faBTH BT
(C) BT & Tt TN HIRTd BT [THT HRAT

(D) SUYaFd & ¥ B8 Tt

Right Answer :

fRrerept o Remr wieret &1 faer™ B

Question 112
3IaRH Uar foa ST &-
Answer :

(A) P& & 3R

(B) U1 A WR

(C) waA

(D) ST H T HIS T

Right Answer :
DT b S

Question 113

3rd:fspa fawcryor &) ufshar §-

Answer :
NEEERIER]

(B) 3ich 3T ufshar
(C) A 3R B GHI

(D) SUYFd # & IS T

Right Answer :
A 3R B &Il

Question 114
He R HAT IaTE0 &
Answer :

(NEZIRELE]

Option Id
127001
127002
127003
127004

Right Option Id : 127001

Question Id : 128

Option Id
128001
128002
128003
128004

Right Option Id : 128002

Question Id : 129

Option Id
129001
129002
129003
129004

Right Option Id : 129001

Question Id : 108

Option Id
108001
108002
108003
108004

Right Option Id : 108001

Question Id : 130

Option Id
130001
130002
130003
130004

Right Option Id : 130003

Question Id : 122

Option Id
122001



(B) SR
©) fag

(D) SUget # § IS Tl

Right Answer :
Hefl g&y

Question 115
FHTaRh dHea H U e bl dfeu-

Answer :

(A) BTl & FIBIAD 3R BT JU&T B
(B) i ¥ HefId BHET dgrar ¢

(€) Tt Tt &1 9 Ud He @ ¢
(D) S B A BIE T

Right Answer :
Tt TRt &1 Iw A Td A &

Question 116

UTGIgIad| &l Hegich MR ol §

Answer :

(A) Rie 1 3E=

(B) o T b =T Ud TRiebRun
(C) =AY Td XAl

(D) Iugad Tt

Right Answer :

Sy Tt

Question 117
THIBITT BT I 8-

Answer :

(A) T 3R T e e o ferg
(B) &< Ua &3 & forg

(C) A 3R B gHI

(D) $7H ¥ ®IS T

Right Answer :
I 3R GI UM & & fore

Question 118
guTdt e 8-

Answer :

(A) S el TR g0 el §

(B) S Hifira 3rafdy H TSR U R qvdl |
(C) S BT B P F forg IR Bl &

(D) S8 ¥ BIs 5!

Right Answer :
Sl BT B AR & e ORd Hd 8

Question 119

% Afad U & =4 T RI&01 $T < o Fhdl § od 98

Answer :

(A) 3T TR & oiftres dw gl
(B) BHET Y M UIH

(C) =3 ATIBIRGT &b BT HF &Y
(D) SUYH & q 75 T

122002
122003
122004

Right Option Id : 122001

QuestionIid : 118

Option Id
118001
118002
118003
118004

Right Option Id : 118003

Question Id : 115

Option Id
115001
115002
115003
115004

Right Option Id : 115004

QuestionIld : 116

Option Id
116001
116002
116003
116004

Right Option Id : 116001

Question Id : 101

Option Id
101001
101002
101003
101004

Right Option Id : 101003

Question Id : 102

Option Id
102001
102002
102003
102004



Right Answer :
BE T T UTHR

Question 120

I R1&fd B AT 671 U fohd TR dh R0 =1 AfgT?

Answer :

(A) 3aY TR
(B) R wR
(@RSIRESH
(D) HeAh TR

Right Answer :
3y wR

Question 121

s Tfepan -

Answer :

(A) TTATHD

(B) UMD

(C) I gt

(D) SWIad gl & F H1S T8l

Right Answer :
IR I

Question 122

e o geaiced & AHI0 HT U 3-

Answer :

(A) & 3rgHa

(B) 3if¥HTaeh 3rgHd
(C) e ergya
(D) ST 3fJHa

Right Answer :
ST 3rgHa

Question 123

Tt YfAT 3aT Bl o-
Answer :

(A) Rreror &

ORIRERR:]

(C) W&o 4

(D) ITRIad Tt

Right Answer :
IRIS it

Question 124
ureu= &1 Rigid el B-

Answer :

(A) fava-axg
(G RUBIEIE

(C) B

(D) SWRIa waft

Right Answer :
IIRIFT it

Right Option Id : 102002

Question Id : 104

Option Id
104001
104002
104003
104004

Right Option Id : 104001

Question Id : 105

Option Id
105001
105002
105003
105004

Right Option Id : 105003

Question Id : 106

Option Id
106001
106002
106003
106004

Right Option Id : 106004

Question Id : 107

Option Id
107001
107002
107003
107004

Right Option Id : 107004

Question Id : 103

Option Id
103001
103002
103003
103004

Right Option Id : 103004



Question 125

e fomT Srgr 59 & gRT e T 82
Answer :

(A) Slo BIBRT

(B) Wlo T=TUTA

(C) & PN

(D) STo TaTfertR

Right Answer :
Ulo I=IUTe

Question 126

! T JHTUIHRUN IR BT § -
Answer :

(A) FHTS

(B) URAR

() H

(D) faarmea

Right Answer :
IRaR

Question 127

Ufehan S e B ARG U F 3dHd ST @ -

Answer :

(A) TRurfa

(B) TXPfAHRT
(C) FHTSIHRUT

(D) SWRIa Fit

Right Answer :
FHTSIBRUT

Question 128
T DA A BTG o

Answer :

(A) S BHRIT YR T8 B

(B) ST GHRIT 3T URUIHA @1 &

(C) N BRRM A=A ¥ o g1 & |
(D) SWIad § | Y &l

Right Answer :
ST GHRT HIReHT 918 d & |

Question 129

B T 3t R § FEa 7-
Answer :

(A) PRSP

(B) T

(C) Ughx

(D) fergax

Right Answer :
IRb

Question Id : 109

Option Id
109001
109002
109003
109004

Right Option Id : 109002

Question id : 110

Option Id
110001
110002
110003
110004

Right Option Id : 110002

Question Id : 111

Option Id
111001
111002
111003
111004

Right Option Id : 111003

Question Id : 112

Option Id
112001
112002
112003
112004

Right Option Id : 112001

Question Id : 113

Option Id
113001
113002
113003
113004

Right Option Id : 113001



Question 130

Irdfae a¥gsfl o1 g weras It & ¥ H fe@m afgw?

Answer :

(A) T B UigTRd BRell &
(B) forma s & g

(C) HITIeR e &

(D) IuRrad Tt

Right Answer :
SIS it

Question 131
MTH g & Tt Bt Hror At

Answer :

(A) HIoTgd
(B) S
(C) TTeit

(D) WFd

Right Answer :
TPpd

Question 132

W BT g a1 IFdg FEfiEd ® ¥ feg Sasaens J fRd 82

Answer :
(A) IR SasEEIH
(B) U STasH=TH

(C) $P K<
(D) A8 STASHZHH

Right Answer :
Ui SIcTsHR=HY

Question 133

ATE 2020 & AlHSISA & GRM THE &3 § 69 & i 3fg ThRIAS W12

Answer :
(A) feroreit
(B) Il

(C) DI
(D) Uciferay

~

Right Answer :
EZRKI

Question 134

fFafafea d I fea av & fogR iR IS S7d T 31e 81 778?

Answer :
(A) 1911
(B) 1912
(C) 1913
(D) 1914

Right Answer :
1912

Question 135

Other Skills

QuestionIid : 114

Option Id
114001
114002
114003
114004

Right Option Id : 114004

Question Id : 149

Option Id
149001
149002
149003
149004

Right Option Id : 149004

Question Id : 148

Option Id
148001
148002
148003
148004

Right Option Id : 148002

Question Id : 147

Option Id
147001
147002
147003
147004

Right Option Id : 147003

Question Id : 146

Option Id
146001
146002
146003
146004

Right Option Id : 146002

Question Id : 145



TeHT T 3154, fOgR &1 31 Y &1 WU, Ueh TaIONd § Sl & 1Y Idl 62

Answer :

(A) T
(B) T T
(C) SNTHE ATct
(D) PR T

Right Answer :
T A

Question 136
fafeied & ¥ ®F ¥ Ugu® SMOG & HRU & o SeR §?

Answer :

(A) HHS

(B) TG I I

(C) S TR T § IeHoH Gt
(D) Iudad B q H¥S 5T

Right Answer :
YD 3R aTE! ° IFoi Gl

Question 137

AR HETS B WY dHe-RI H IUaT 3 forg ufaafia it fosan man g2
Answer :

(A) 1% T8 9gd Tt ST &I §

(B) Fifch Tg AW Ual $ell &

(C) FIfH BT T YT Had T &t IR {HaT ST Gohdl &

(D) T BT 9gd Hiel § 3R TIE HeR| Bl &b ol Dl §

Right Answer :
i Ig YGuUl Ual Xl §

Question 138

TS UHM W US| Bt Hers bead o
Answer :

(A) Tl Bl heTg

(B) TR

(C) THIBRTT

(D) 3T A IS +ft TET

Right Answer :
Il B Bers

Question 139

froffead 3 3 o9 d Weeew T Ad g2
Answer :

(A) PTeH STRHTRIES

(B) T

(C) T3CH 3RS S

(D) BT A SIS

Right Answer :
CICERSIEIRICRIES]

Question 140
fafafea # I frg wou # wrh 99 & d8d T 991 87 82

Answer :

(A) S 3R HIR

Option Id
145001
145002
145003
145004

Right Option Id : 145001

Question Id : 144

Option Id
144001
144002
144003
144004

Right Option Id : 144003

Question Id : 143

Option Id
143001
143002
143003
143004

Right Option Id : 143002

Question Id : 142

Option Id
142001
142002
142003
142004

Right Option Id : 142001

Question Id : 141

Option Id
141001
141002
141003
141004

Right Option Id : 141004

Question Id : 131

Option Id
131001



(B) A UG
(C) STRTES
(D) HERTSCT

Right Answer :
A UG

Question 141
IS T 3T BT TS 3R ASTS 10 HY 3R 8 1l B, Al ITHT &7Bd F1d BT |

Answer :

(A) 80 T Tt
(B) 86 T Tex
(C) 80 T Hier
(D) 84 T Tiex

Right Answer :
80 T Hicx

Question 142

131002
131003
131004

Right Option Id : 131002

Question Id : 139

Option Id
139001
139002
139003
139004

Right Option Id : 139003

Question Id : 138

e A ¥ R faU1 5% Tl a¥ Thqieg STl B &R ¥ 3 WId o forg 4o &1 5000 | fan 1 3 af &6 UTed G aTeh IR BT 70T HY |

Answer :
(A) 5789
(B) 5788.12
(C) 5788.13
(D) 5788

Right Answer :
5788.13

Question 143

(47 x 13.26 + 9.43 + 4.7 x 77.31) HTAA §
Answer :

(A) 47

(B) 470

(C) 4700

(D) 47000

Right Answer :
470

Question 144
Sag Ta..uH. &) TeATft 114560 B 3R ITHT H.C.F. 13 §1 S 390 T UF 416 €, < QIR ©

Answer :
(A) 460
(B) 455
(C) 450
(D) 445

Right Answer :
455

Question 145

BN & ST §1/V3 M B $a1s &1 AT I BT I HI0 7 gIm?
Answer :

(A) 135°

(B) 45°

(C) 30°

Option Id
138001
138002
138003
138004

Right Option Id : 138003

Question Id : 137

Option Id
137001
137002
137003
137004

Right Option Id : 137002

Question Id : 136

Option Id
136001
136002
136003
136004

Right Option Id : 136002

Question Id : 135

Option Id
135001
135002
135003



(D) 60° 135004

Right Answer : Right Option Id : 135004
60°

Question 146 Question Id : 134
1 ¥ IHe:?

Answer : Option Id
(A) 9T D 134001
(B) f&Ud 134002
(C) ot 134003
(D) TR 134004
Right Answer : Right Option Id : 134003
faemeff

Question 147 Question Id : 133

I8 Xea g Sl YHE & 3 Veal Y Yo HH fHerdl Jeidl 81|

Answer : Option Id
(A) Tide 133001
(B) ST 133002
(C) STHTTH 133003
(D) P 133004
Right Answer : Right Option Id : 133003
SHTH

Question 148 Question Id : 132
81,9,64 8......, 12

Answer : Option Id
(A) 97 132001
(B) 144 132002
(C) 96 132003
(D) 100 132004
Right Answer : Right Option Id : 132002
144

Question 149 Question Id : 140

T fAfYd HIS H PAGES &1 RDIHU 3R WRITE &1 YUKWG foraT STTa g | St 5 HTST & OTHER &1 & foran e 2

Answer : Option Id
(A) RVKGU 140001
(B) QWJHT 140002
(C) RWJHU 140003
(D) PWIHS 140004
Right Answer : Right Option Id : 140002
QWIJHT

Question 150 Question Id : 150
FIHT I B Uell g1 Mide iR uy W1 § 1 Mide, I &1 U1 1 Uy T &.....

Answer : Option Id
(A) Gl 150001
(B) TERT TS 150002
(C) SIS 150003

(D) 4TS 150004



Right Answer : Right Option Id : 150003
RIS




